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Measures of Resource Consumption

Poverty Reduction

What is poverty reduction?
= Povertyis defined as the lack of access to basic necessities such as food, shelter, and healthcare
= Poverty reductionrefers to efforts aimed at reducing or eradicating poverty

= Povertyisacomplexissue thatisinfluenced by factors such as economic, social, and political
structures, and inequalities

= There are many approaches to poverty reduction, including:
= Providing direct assistance (e.g. cash transfers, food aid)
= Creatingjob opportunities
= |mproving access to education and healthcare
= Promoting economic growth and development
= Poverty reductionnot only reduces or eradicates poverty; it also:
= Haspositive impacts on other areas, including health, education, and gender equality
= Canbeonasmallorlarge scale
= Includinginitiatives from governments and international organisations
= |nvolves addressing systemic issues such as social exclusion, discrimination, and inequality
= Requires collaboration and partnerships among various stakeholders. These may include:
= Governments
= Civil society organisations

= Private sector

Global progress towards poverty reduction
= The United Nations' Sustainable Development Goal (SDG) 1is to 'End poverty in all forms' by 2030

= There has been significant progress towards this goal; over one billion people have moved out of
extreme poverty
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= The percentage of the world population living in extreme poverty has decreased from 46% in 1968
t08.5%in 2019

= The number of people living in extreme poverty has decreased over the same period, from 2 billion
to 660 million

= Between2020 and 2021, there was anincrease in people living in extreme poverty to 750 million

= Thiswas due to the economic impact of the Covid-19 pandemic
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Share of population living in extreme poverty
= Despite the progress made, the goal of ending poverty by 2030 is unlikely to be achieved
= Globally, almost1in10 people still experience extreme poverty
= Povertyreductionhas:
= Occurred due toincreasedincomes
= |Ledtothe development of
= The new global middle class (NGMC) - approximately 2.5 billion people

= Fragile middle class - approximately 4 billion people

Regional progress towards poverty reduction
= There are many suggestedreasons for the global decrease in poverty including:
= Therapid development of countries in Asia
= Globalisationandtrade

= |ncreased participation of China, India and Eastern Europe in the global economy
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= Reduced colonial and neo-colonial influence in some countries /

Eachregion or country has unique characteristics
Your notes
The changesin the numbers of people living in extreme poverty will vary depending on these

characteristics

The greatestreductionin the number of people living in extreme poverty has occurred in China and
India

The only area to experience growth in people living in extreme poverty is Sub-Saharan Africa

By 2030, is estimated that climate change may lead to up to 130 million members of the fragile middle
class falling back into extreme poverty
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Global change in the number of people living in extreme poverty
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Wealth inequality
= Despite the decrease inlevels of extreme poverty, there has also been anincrease in wealth inequality
= The wealthiest 1% own almost 45% of the world's financial assets
= Since 2020:
= The wealth of billionaires has grown three times faster than the rate of inflation
= The wealth of the poorest 5 billion people has fallen by 0.2%
= Thishas occurred because those with wealth caninvest and gain more income
= There has alsobeenanincrease inrelative poverty in many regions

= Asthewealthiest becomericherthe gap between them and those on lowerincomes increases

Growth of the New Middle Class
What is the global middle class?

= Themiddle classis a phrase which was used to describe people between working class and upper
class

= The new global middle class (NGMC) refers to individuals or households attaining a certain level of
income and consumption

= Typically, theirwealthis above poverty levels but below the wealthiest segments of society
= The NGMC do notyet have the affluence of the 'middle class' living in high-income countries
= The definition of NGMC varies and caninclude people who:

= Spend orearnmore than US$12 a day

= Earnmore than US$10,000

= EarnbetweenUS$3,650 and US$36,500
= |tisestimated that approximately 2.5 billion can now be categorised as NGMC

= |ncreased wealth means that people have more disposable income and can buy more goods and
services

The growth of the global middle class
= The growth of the NGMC has been a significant global trend over the past few decades

= Factorsdriving the growth of the NGMC include:
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= Economic growth /

= Urbanisation Your notes

= Technological advances
= The size and characteristics of the NGMC vary across regions and countries, some countries
experience more rapid growth than others

= |ndia and China have experienced rapid growth of their middle class population

= The middle class populationsin these two countries account for almost 50% of the NGMC
consumption
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Share of middle class

The impact of the growing middle-class

= The growth of the middle class affects
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= Consumer behaviour
= Global trade and investment

= Social and political dynamics
= The growth of the middle class has also been linked to several challenges, including:

= Environmental degradation - increased consumption and waste lead to more pressure on the
environment

= Resource depletion - increased consumption means more resources are used
= Risinginequality - within and between countries
= |ncreasing numbers of the middle class have also led to:
= |mplications for businesses and industries which operate on a global scale
= Opportunities to address poverty and promote sustainable development

= Middle-class customers may demand more sustainable and socially responsible products and
services

= The emergence of new markets and consumer preferences
= Debates and discussions regarding the affordability and accessibility of goods and services

= Consideration of the role of government in ensuring the well-being of citizens and in promoting
equality

Ecological Footprints

Measuring trends in resource consumption
= Globalresource consumptionisincreasing due to:
= Economic development
= Population growth
= Estimates of the Earth's carrying capacity vary
= Most studies estimate between 8 and 16 billion people
= The higherthe average consumption of resources, the lower the carrying capacity becomes

= |f everyone consumedresources at the rate of the average American, the carrying capacity would
be much lower than if everyone consumed only what they need

= The UN predicts that resource use in 2050 will be 71% higher per person thanin 2022

Page 8 of 26

© 2015-2024 Save My Exams, Ltd. - Revision Notes, Topic Questions, Past Papers

i

Your notes


https://www.savemyexams.com/?utm_source=pdf
https://www.savemyexams.com/

1, SaveMyExams

Head to www.savemyexams.com for more awesome resources

= Therate at whichrenewable and non-renewable resources are being used will affect the future
carrying capacity

= Renewable resources are those which can be naturally replenished to keep pace with the speed
they are used

= Non-renewable resources are resources which cannot be replenished at the speed at which they
areused

What is an ecological footprint?

= Ecological footprint is defined as the measurement of the amount of land and water a population
requires to:

= Produce theresourcesitconsumes
= Absorb the waste generated

= [t measures the relationship between population size and resource consumption

Calculating the ecological footprint
= The ecological footprintis calculatedin acres or hectares
= Biocapacity is the total productivity of an areas agricultural land, built up land, forests and fishing areas

= |tassesses how much productive landis needed to maintain the population at the current rate of
resource consumption

= The calculation considers:

= Bioproductive land, which refers to grazing land, gardens, forests, farmland for food and
materials, etc

= Bioproductive sea, referring mostly to fishing grounds

= Built environment, needed forroad and settlement construction, etc

= Energyresources, suchasland, are needed to produce renewable energy
= Biodiverseland fornon-human species

= Non-productiveland, e.g deserts

= QOtherfactors, such as species extinction, toxic pollution of air, water and other non-renewable energy
resources, are not takeninto account

Individual footprint

= Anindividual's ecological footprint is a measure of theirimpact on the environment
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= |tis calculated by measuring the amount of resources the individual consumes, including:
= Food
= Water
= Energy
= Materials
= [talsoincludesthe amount of waste individuals produce
= |ndividual footprints are:
= Higherinwealthier countries, where people consume more material goods and energy

= |Lowerinlow-income countries where people consume fewer material goods and energy

National footprint

= Anational footprintis a measure of a country's ecological impact

Itis calculated by measuring the amount of resources a country consumes, such as:
= Fossilfuels
= Forests
= Fisheries

= |talsoincludesthe amount of waste it generates

= The national ecological footprint varies significantly between countries, with wealthier countries
typically having larger footprints due to their higherlevels of consumption and industrial activity

= Qatarhasthe highest ecological footprint ataround 12.6 hectares per capita
= Haiti and Malawi have footprints of less than 1hectare per capita
= Anecological creditoris a country with an ecological footprint lower than their carrying capacity

= Anecological debtoris a country with an ecological footprint greater than their carrying capacity

Global footprint
= Aglobalfootprintis ameasure of humanity'simpact on the environment

= |tis calculated by adding up the ecological footprints of all countries and expressing the total in global
hectares

= The globalfootprintis used to estimate the overall sustainability of human activities on the planet
= The global ecological footprint has more than trebled since 1961. This is due to:
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= Population growth
= [ncreasing consumption

= |ncreased productionlevels
= The Global Footprint Network estimates that humanity first went into ecological overshoot in the 1970s
and has been doing so ever since

= This means that our ecological footprintis larger than the earth's capacity toregenerate its
resources

= Earth Overshoot Day is calculated as the day each year when humans have used the resources the
Earth has the annual capacity toregenerate

= |n2022, it was estimated that the world's populationused 1.7 Earth's worth of resources
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= The consequences of this are major global environmental problems, which include:
= Biodiversityloss

= Climate change
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= Resourcedepletion /

Your notes
Ecological footprintsinvolve analysing various interconnected systems and processes

= |tcanbeachallenge to accurately measure and account forthese
Environmental footprints don't give the full environmental impacts of a product
= Theydonotaccount fortheimpacts of switching to a more environmentally friendly option

Ecological footprint calculations are based on simple principles, which means they can be difficult to
apply to complex situations

Different methods of calculating ecological footprints produce different results
= Theyare dependent onassumptions and data used

Predicting future consumption patterns, technological advancements, and their associated impacts
canbe challenging

= This makeslong-term footprint calculationslessreliable

o

Examiner Tips and Tricks

In the final exam you may be asked to describe trends shown in graphs. It isimportant to ensure that
you:

= |dentify the maintrends

= |sthereanincrease ordecrease?
= [stherate of change slow orrapid?
= Usefigures fromthe graphto support youranswer

= What are the highest and lowest figures?
= Whatistherange?
= |dentify any anomalies
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Availability & Consumption of Resources /

Your notes

Availability & Consumption of Water

Earth's water
= Freshwater makes up just 2.5% of all Earth's water
= Approximately 1.6% of the freshwateris locked away:
= The cryosphere holds 68.6% of freshwaterasice
= Theremaining 30.1% is groundwater

= |ntotal,just 0.9% of the Earth's total freshwateris accessible to humans

Availability of freshwater

TOTAL WATER
ON EARTH 100%

= SALINE 97.52

FRESHWATER 2.5% |

GLACIERS & ICE
CAPS 68.7%

GROUNDWATER 30.1%

LAKES 20.9X

GROUND ICE &
SNOW 692

SWAMPS &
MARSHES 2.62

ATMOSPHERIC
WATER 32

RIVERS 0.442

BIOLOGICAL
WATER 0.26%

Global availability of freshwater
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= Wateris unevenly distributed around the globe because of physical and human factors /
Physical and Human Factors Affecting Global Water Distribution Your notes
Physical Factors Human Factors
The uneven spread of land to sea Level of economic development
Geology, which enable aquifers to form Rate of abstraction
Climatic differences: temperature and rate of precipitation Use of water
Altitude and latitude—ice and glaciers Embedded water
Wetlands, lakes andriver size Population numbers
Soiltype: groundwater store Affordability
Contaminated water

= Thismeans that people's access to wateris uneven and dependent on where they live

Global availability of freshwater
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High latitude countries tend to have high
levels of rainfall to provide freshwater.
High population levels can lead to water

At approximately 30°N there is physical
water scarcity due to high temperatures
and large land masses

stress as in the southeast of the UK

of fresh Water
water stress

D No appreciable flow

Equatorial countries have
sufficient water due to high
levels of rainfall

Countries with higher levels of poverty
have economic water stress despite

high levels of precipitation

Global availability of freshwater

= Global climate differences create varying amounts of groundwater, surface water, and precipitation

levels

= Availability may also be affected by populationlevels and wealth

= Thedistribution of the human population does not match the distribution of water

= This creates areas that do not have adequate local water supplies

Patterns and trends

= Since 2000, 1.8 billion people have gained access to basic drinking water services

= |nequalitiesinaccessremain
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DO NOT HAVE
SAFELY MANAGED
SANITATION
SERVICES

Trends in global access to water

= According to the World Bank, inequality in access to wateris the greatest threat to:
= Economic progress
= The eradication of poverty
= Sustainable development

= |tisthe poorest and most vulnerable that suffer the most

Increasing demand for water
= Demand for safe waterisincreasing due to:
= Economic development
= Population growth
= |ncreased use of renewable energy

= Atpresent, HICs have some of the highest levels of consumption due to:
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» Modernappliances /

= Swimming pools Your notes

= |nternalbathrooms

= Production of food and manufactured goods
MICs are increasing their consumption and demand for water; much of thisincrease is due to
industrialisation

LICs have the smallest water footprint

Agriculture

Agricultural production of food, fibres, livestock and industrial crops accounts for 70% of global
groundwater withdrawals

= Thisfigureis evenhigherin arid and semi-arid regions

By 2050, there willbe an estimated 50% increase in demand for food, adding extra stress on
groundwater abstraction

Much of this growth willbe in LICs, which already experience water stress

Industry

Approximately 17% of total water withdrawals are used forindustrial purposes
Freshwateruse inindustry includes:

= Dilution

= Steam generation

= Washing and cooling of manufacturing equipment and goods

Industrial wateris also used as a cooling agent for energy generationin fossil fuel and nuclear power
plants (hydropower generationis notincluded in this category), or as wastewater from certain industrial
processes

At over 300 billionm3, the U.S. is the largest consumer of industrial water
Chinais the second largest consumer at 140 billion m3

Otherregions use approximately one billion m3 of industrial water per year, with Sub-Saharan Africa
and some parts of South Asia using less than 500 million m3 of industrial water peryear

Domestic

Theremaining 13% is used for domestic, household or public services (cooking, cleaning, washing and
drinking)
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= Thethree countries with the highest domestic use of water are China, USA and India

w >~ [« ) BN
o o O o O

BILLION m?

N
o

O I 1 1 L T I T 1
1975 1980 1985 1990 1995 2000 2005 2010

KEY:

—— CHINA

—— UNITED STATES
——— INDIA

Domestic use of water in China, USA and India

= Future demands for freshwaterinclude:
= Population growth
= Growth of middle class - affluence leads to increased water consumption
= Growthintourismand leisure
= Growthinurbanisationrequires investmentin water and sanitationinfrastructure

= Climate change andincreased climatic variability of precipitation rates

Embedded, hidden or virtual water

= Thisreferstowatertransported from one place to another through the export of foods, flowers,
manufactured products, drinks, etc.

= |tallows countries toreduce theirwater consumption by importing goods
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= However, it canalso lead to further water stress through exporting goods

= ThelcaValleyisinthe dry, coastal region of Peru andis one of the few placesin the world, where
high-quality asparagus can grow all yearround

= QOver 317 million cubic metres of wateris needed from the aquifer to grow the exported asparagus

= Thishasreduced available waterin the aquifer by over 60% and atits current rate, the aquifer will
run dry within the next 20 years

Availability & Consumption of Land/Food
= The world populationis now over 8 billion people
= The growth of populationleads to anincreasing demand for food

= |tisestimated by the Food and Agriculture Organisation that 60% more food will be needed to feed
the world population by 2050

= Development leads to nutrition transition, which also increases consumption of food
= Thelower calorie intake in many countries in Africais due to:
= Lessfoodbeingavailable
= | owermeatconsumption

= |InHICsandincreasingly inemerging countries, the high calorie intake is the result of increasing
meat intake and more 'fast food'

= Meat consumptioninVietnamincreased from 28.6kg per person (2002) to 63.34kg per
person (2020)

= The growth of the new global middle class (NGMC) means that people have more disposable
income

= People are able to afford a more varied diet, which increases the consumption of imported foods

= |ncreased calorie intake has also led to a growthin obesity and diet related diseases
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Global calorie intake per person

What are the challenges of nutrient transition?

= Theincrease in meat consumption and changesin diet resulting from nutrition transition have a number
of impacts

= Livestock farming:

= |ncreasesthe demand foranimal feed
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Beef 25 Kilogram
1 _ o Your nOtes

Lamb/mutton

Poultry - 3.3 kilograms

Eggs

15 kilograms

6.4 kilograms

2.3 kilograms

Whaole Milk 0.7 kilograms

Feedrequired to produce Tkg of food

= |ncreases pressure on water supplies
= | eadstoanincreasein methane production, contributing to climate change

= Clearance of land for grazing and crop production increases deforestation

Availability & Consumption of Energy
The global demand for energy

= The globaldemand for energy has increased significantly since the 1950s
= Energy consumption can be measured in several ways, including:

= Kilograms ortonnes of oil equivalent peryear (kgoe/yr)

= Terawatt hours (TWh) or Megawatt hours (MWh)

= Gigajoules (Gl/yr) orexajoules peryear (EJ/yr)

= |tispredicted that energy demand willincrease by nearly 50% by 2050

Page 210f 26

© 2015-2024 Save My Exams, Ltd. - Revision Notes, Topic Questions, Past Papers



https://www.savemyexams.com/?utm_source=pdf
https://www.savemyexams.com/

1, SaveMyExams

Head to www.savemyexams.com for more awesome resources

'4

160,000 TWh Your notes

140,000 TWh
120,000 TWh
100,000 TWh
80,000 TWh
60,000 TWh
40,000 TWh

20,000 TWh

0 TWh
1800 1850 1900 1950 2021

[ ] oTHER RENEWABLES
[ ] MODERN BIOFUELS

[ HyproPoweER
[ nucLear
[ ] NATURAL GAS

B TrADITIONAL BIOMASS

Global energy demand
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What are the causes of the increase in energy consumption? /
= Anincreasing global population; the more people there are, the higher the demand for energy Your notes

= The growth of the NGMC means that people have more devices, appliances and vehicles which use
energy

= Theincreasing availability of electricity means people in LICs are moving away fromreliance on
fuelwood forheating and cooking

= Developmentleads to more industries, which consume increasing amounts of energy

Whatis energy mix?

= Eachcountry has a unigue energy mix to meet theirenergy demand

NUCLEAR
RENEWABLE

NATURAL
GAS

COAL

RENEWABLES

Comparison of the energy mixin France and USA

= The primary energy sources that are used to generate electricity include:
= Non-renewable fossil fuels such as coal, oil and natural gas
= Renewable energy sources such as wind, geothermal, hydroelectricity and solar
= Recyclable fuels such as nuclear energy, biomass and general waste
= Eachcountry's energy mix will vary as a result of several factors
= The energy mix of the USAis also significantly different from that of France
= The USA only has 10% coming fromrenewable energy and 8% from nuclear

= France has10% from renewables and 41% from nuclear energy
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Francerelies on 46% of its energy supplies being imported, as all of its natural gas and oil are imported
along with the uranium required forits nuclear power

= The USAonlyimports around 15%

CountriesinAsia, including China and Indonesia, rely heavily on non-renewables, particularly coal,

becauseitis:

= Readily available

= Cheaperthanotherenergy sources

Factors Affecting the Energy Mix

Factor

Impact on the energy mix

Level of
development

Developing countries usually use natural resources, such as firewood for cooking

Emerging countries will see arise in oil use as transport and car ownership
increases

As countries develop, they tend to start using more gas and nuclear power as
technology advances

Environment

Concerns about climate change have led increasing numbers of countries to
reduce the use of fossil fuels

Safety Incidents such as the nuclear accidents at Chernobyl and Fukushima mean people
have concerns about the use of nuclear fuel
Economic The cost of energy sources can affect the choices governments make
Technology Some countries have greateraccess to technology
Improvements in technology have decreased the cost of renewable energy
production
Political The conflict between Russia and Ukraine has encouraged European countries to

reduce theirreliance on Russian gas supplies
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Physical Some countries have varying amounts of non-renewable energy sources, which
impacts how much of these resources they use

The geographical location also affects wind speeds, sunlight availability, water
access for HEP, tidal and wave power

= |tisimportant for countries to have a balance between domestic energy sources and imported energy
sources to ensure energy security

Changing importance of energy sources

Decreasing use of hydrocarbons

= Hydrocarbons, also known as non-renewable fossil fuels, are becoming less popular as energy
sources due to concerns about the environment

= Climate change

= Airpollution

= Destruction of habitats during mining and drilling
= Hydrocarbons are finite and, at some point, will run out

= Some countries have invested in fracking to increase the supplies of hydrocarbons

Increasing use of renewable energy
= Renewable energyisincreasingly importantin the global energy mix

= Countries want toreduce theirreliance onimports of non-renewable energy sources and improve their
energy security

= Reductioninthe cost of renewable energy sources
= Advancesintechnology mean that renewable energy is more efficient

= Renewable energy haslessimpact on the environment

Changes in nuclear energy
= Nuclearenergy uses nuclear fission to generate electricity
= The process doesnot produce greenhouse gases
= Some countries, such as Germany, are reducing the use of nuclear power due to concerns regarding:

= Safety
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= Storage of nuclear waste /

= Othercountries, such as France, rely on nuclear power for alarge portion of their energy production
Your notes

= Many countries are researching and investing in nuclear fusion this would:

= Produce significantly lower amounts of waste

= Eliminate therisk of nuclear accidents

o

Examiner Tips and Tricks

Itisimportant not tojust think in terms of individual countries. Food and energy sources are
imported and exported between countries and water supply sources often cross international
boundaries.
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